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BLUE PRINT OF MODEL QUESTION OF MATHEMATICS (XI1)

SUBJECT

SR. No. Of Objective No. Of Short No. Of long
NO. type question answer type answer type
(Probable) question (Probable) question
(Probable)
1 Relation & function 08 ) 03 =
2 Calculus B 20 08 02
3 Algebra 07 04 .
4 Probability 06 03 =
5 Vector & 3D- 06 04 01
Geometry ] _ . .
6 Linear-Programming | 03 - 01
Problem j
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SET (UMY u=)—1
SECTION (Wvs) —1

OBJECTIVE QUESTIONS (a1 U )

Time : [1 Hrs + 10 Min (Extra)] Full Marks : 50
Y ¢ 1 °el + 10 Mo (rfaRked) quifeh : 50
e —1 9 50 dd 4 H 9 U MU IR eedl 4 9t &) SR I8 2, %
U & el SN Bl SN diferdl § Rifted v | 50X1= 50

From Question no. 1 to 50 there is one correct answer for each question you have to
msark that correct option from the given options.

50X 1= 50

. W™ R = {(1,3),(4,2),(2,4),(2,3),(3,1)} T=ad A={1,2,3,4)} 1= BT Gawr & ?

[What type of a relation is R = [{(1,3),(4,2),(2,4),(2,3),(3,1)} on the set A={12,3,4}]
(a)®rged (reflexive) (b)HsHH® (transitive)

(c)=HfAd (Symmetric) (d) 574 & @13 1 72F (None of these)

Sn4(§)+co§1(—):?
@< (b)) = ©7 () 3 & B o
bc 1 1/a
lca 1 1/b| = 2
ab 1 1/c
(a) — (b) 0 (c) abc (d) 5T & BIE W T



5. aﬁ{(lf)lziz x2y|=|g élaﬁymﬂwﬁmﬁﬁaﬁﬂwm?

( then which will be value of y from the following ?)
(a) 2 (b) 4 (c)5 (d) 379 & BIg 1 27 | (None of these)
6 afe (ify= sin(logx) T (then)== =2

(a) ___cos (logx) (b) cos (logx) (C) sin (logx) (d) 3717}{ QET aﬂs‘ iﬂ qﬁl

7. afe (If)y=x3+4x'+6?ﬁ(then)%(27y =7
(a)3x%+4 (b) 3 x? (c)6x (d) 3 x
8. 39U r & AT gd & &bl ® URAT Bl ¥, S r= 14 oo & 3R (1= 2)

(The rate of change of area of a circle with respect to its radius r, when r = 14 cm and (T[= —27—2)
is)

(@) 44 cm? Jem  (b)88cm? /em  (c) 28 cm? /em  (d) 22 cm? /cm
9. gy = x2 % 145 (0,0) R WLl W@ gRIx-31eT & &FTHD QLM B <A1 IR AT

PIT B [The angle that the tangent to the curve y = x? at (0,0) makes with the
positive direction of the x -axis is]

(a)45° (b)90° (c) 0 (d)60°

10. wo f (X) =4x2 -4, x € {-11} D foIU At & Ay | C &7 99 = : [The value

of ¢ in Role’s theorem for the function f(x) = 4x?- 4, x € {-1,1} is]

(a) 4 (b)i (c)0 (d) 3° &1 Pig 1 981 | (None of these)
1. [Tasin’xdx =7
(a) 1 (b) -1 ()0 (d) " & @I Y F81 | (None of these)

1
12, f;dx =, ?
(@) log,ix (b)) logex+c (c)loggx+c (d) s A IS 4T 78| (None of these)
13 [tanx dx-=.7
(a) logcosx +c (b)logsecx+c (c))logcotx+c (d) 8 o Pig At A8 (None of these)
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14. Waed y2 = 4ax R IS latus rectum &1 AT TWUS I BRT &5 BT &bl

= [The area bounded by the parabola y? = 4ax and the line segment of the latus rectum is]

4a? . g8a.? . e . 2a* .
(a) %unlt.2 (b)—Z—umt.2 (c) 3a unit.? (d)—:—umt.2

15 f5 f(x) =[] ¢ dt o whawor x% — f1(x) = 0 & Al 7 2,
[if f(x) =f1x\/2 — t2 dt then real roots of the equation x? — f1(x) = 0 are]

(a)* - (b)* 1 (c) + - (d) 2

Sl

S5 v 3() 3 oy =cosxm i &

16. orgeer T¥@RT (

[The order of the differential equation (%i—zy bk 3(% ).3 + 9y = cos x is]

(a) 4 (b)3 (c) 2 (d) g% & P &l |

17. 1 x (§x k) @1 79 frefoea 8 @ &9 wr g ?
[which of the following is the value of T x (J x k)?]

(a) k (b)O (€)1 (d)]J

18 WA 2x =3y =-zqR6Xx=-y=-42 I & I © |
[The angle between the straight 2x =3y =-zand 6x =-y =-4z is |

(a) ¢ (b)3 (c) 0 ()7
19. T 9N @ B H Slel UM & UAHGAT 8 [The chance of getting a doublet with 2 dice is]

(a) ¢ (b)2 ()2 (d) =

20 @R G,b R ¢ tH g @ orEad 3o wRw @ ar (a- b)Y+ (b -€ Y+ (C-d ¥ =7

(a) 6 (b)3 (c) 4 (d)9
[If &b and ¢ are unit vectors perpendicular to each other then (a- b)*+ (b ¢ )*+ (¢ —d )* = ?
(a) 6 (b)3 (c)4 (d)9
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21, Icos 5 _ 2

8il/5° cos75°
(a) 1 (b )g (c)0 (d) 395 & &1 Wt 987 | (None of these)

22. 3fg (If) P(A) = % P(B) =13k A @ B wds weAv § (A and B are mutually
independent events) I (then) P(AN B)=

(a) 5 (b) % (C)i (d) g% | ®1g +ft €| (None of these)

25

23. afe wfpar x oRvfia @ fs (@ax b)=a? + b2 (3%4)=52]
[If the operation x is defined as (a x b) = a? + b?then (3%x4)=51is

(a) 650 (b) 125 (c) 625 (d) 3125
i
[ 24 I f: R—> RSE f(x) =3x @ &1 B 17 7
If : R—> R— Rsuchthat £(x) =3x, then what type of a function is f 7
(a ) waba sfasfi(One — One into) (b ) U 3mesTes (One — One onto)
(c ) b sided! (many One into) (d) e si@erdt (many One onto)
25. ar«ifde wmel & wHTad H Wy 99T 7 fmferad § dwr dawer @ 7 |
5 (a ) daa FAfad (b) waa w@gea |
(c ) 3Fidbe o (d) Geadr wee
[ What type of a relation is “greater than” in the Set of real numbers ?]
(a ) Only Symmetric (b) Only reflexive
(c ) Only transitive (d) Equivalence relation
; 26. afz(If) Sin"lx = g , x € (=1,1) @ (then) cos™*x = ?
51 7T 3m o
(a) 5 (b) 5 (¢) 4 (d) 35
27.  Sin(cot™tx) =7
(a)x (b) V1 + x? ()X +x2)"Y2  (d)(1+x2)73/2
4

28. af Ae RalR AZ]? Z|Fﬁ?\AW?PT[?

[/f \e R,and 4 = |CCL Z| then A 4 is equal to ?

(b)

| 7\a bl (d )z & @1 78l (None of these)

|7\a bl |?\a 7\b|

(¢) Ac
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_‘
x 3.7
a7 ek 2 wieRr |2 x 2| =09 @ q@ ¥ ar drawr gor g ?
7 6 Xx
x 3 7
[/f7 and 2 are two roots of the equation|2  x 2| = 0 then the third root is 7]
7 6 x
(a)§ (b) —9 (c) 14 (d ) 5% @ @ & (None of these)
30. zrf%:A=|}L é 2|aﬁﬁmﬁ‘ﬁmﬁaﬁ:fA’a§W%?
1 2 3 ; o ;
[IfA=|4 c 6| then which one of the following is equal to A’ ?
1 4 3
2 1 3 4 5 6
(@)l 4 ¢ oI 5 ol ()2 s (@2 s
3 6 1 4

31. aﬁyzlogﬁa‘r%mmﬁﬁw%ﬁﬁaﬁ?m?
[If y = log\/x then which one of the following will be value of % ?]

1 1 ‘ Vx
(@)~ (b Wx (¢) 57 (d)=
32.  afiy= sin2x @ 2L 1A P ¥ % @ A 7
2
[If y= sin2x then which one of the following will be value of 37)2' ?]
(a) 2sindx (b) —4sin2x (c ) 4sin2x (d ) 4cos? 2x

x? @ aRadT @ <R TAT log.x & IR & &R B U Fr=ifpd ¥ F B BT ?

[which of the following is the ratio of rate of change of x* and the rate of change of log. x]

(a) 2x (b) 2x2 (c)?2 :

a0,
(d) =~

f(x)=V3 Sinx+Cosx BT A9 AedH x & fA=ifed ¥ & feq a9 & forg g ?

[The value of f(x)=V3 Sin x+Cos x will be maximum for which of the following value of x ?]
Vs

(a)= (b) - (e)5 (d)3

WWW{H.(%).Z}W: m%wwﬁﬁ%ﬁﬁaﬁﬂm?

34.

35.

2
[Which one of the following is the degree of the differential equation{1+. (Z—z).z /%= m-Z—;jzf?]

(a) 2 (b) 3 (c)1 (d)o0

e )

S T,

! ' s
[



[ e* dox 1 A e A e R 2
[which of the following is the value of [ 01 e* dx ?

(ae—1 (b)e ()1 (d) 374 & &1 78l (None of these)

37 R (i) f(—x) = —f(x) T (then) [ (o) dxc @t et foet & ) i & ?
[If f(—x) = —f (x) then which of the following is the value of [ f(x) dx ?
(a) f(a) (b) 2f(a)  (c) 0 (d) 7% ¥ B & (None of these)
38 [dx =7
(a) log x—~ Fc  (b) - logx+k (c) log x—tk (d) ¥ < @ & (None of these)

39. ferfeRRad # @19 A9l sades FHieRe TRl § 7
[which of the following is not Homogeneous differential equation?]
(@) y?dx + (x> + xy)dy =0 (b)(x —y)dy + y?dx =0

dy .Y YV o Y
o) el (@) & = sin?

40  @=-5] +hk e b=47-47+7k w 98w A Fr A B ?
[which of the following will be the value of the projection of ‘@= -5] + k on
b=41-45+7k]? |
(a) 27 (b) 47 (c)7 (d) s & @1g 71 (None of these)

41. T g A R (345 A @ = daaH e 2
[which of the following is the distance of the point (-3,4,5) from the origin ?]
(@)25v2  (b)5V2 (c)10v2  (d) ¥ & @1% 78 (None of these)

42. il el Y@ & foq erqurd 1,3, 5 2 1 Sua fRaesar =1 4 1 @1 8 ?

[Which of the following will be direction cosines of the line which directions ratio are 1,3,5 7]

115 % (d) 37 5 @13 781 (None of these)

i 3 5 5 3

Om=mE O3 O

43. FHIERY ax + by = ¢,ax + by >c,ax + by < c 3R ax + by<c W ¥ G«
TR fo § 4 pi 8 °?

[Which of the following is the corresponding equation of the each of in equations ax + by =
¢, ax + by >c,ax + by < cand "ax + by<c]
@ax+by=c (b)ax+by =0 (c)bx +ay = c (d) 3 & & (None of these)

44, TONCR ATRY 74 § I B9 B ?

[Which of the following is the non-negative constraints ?]
(A)x<0y<0, (b)x<0y=0(c)x =0,y =0 (d) s 3 ® 7E (None of these)
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45, VIR TR x > 0,y = 0 & HRUT AT & 1 & & fobg arg & g ?

[The feasible region due to non-negative constraints X = 0, = 0 will lie in which of the

/ following quadrants?]
4 (a) agef (Fourth) (b)wer (First)  (c) gard (Third) (d) f&<ra (Second)
46. gdH FHBUT ax + by = ¢, BT MW@ Sl T A @1 2, 171 4 9 54 fag
UR x 37eT ¥ Yo 7

[The graph of linear ax + by = ¢, which is a straight line, will pass through which

of the following point on the x-axis ?]

@ G, 0) ), 0) (c) (0,5) (d) (0,2)

47. AfC AR B ®1g <1 "ed 81 difds P(A) = 0.2, P(B) = 0.6 P(AUB)+P(ANB) =2’
[If A and B are any two events such that P(A) = 0.2, P(B) = 0.6 then P(AUB)+P(A N B) = 7]

(a) 0.4 (b) 0.8 (c) 0.12 (d) 0.9

48. UH U B B IR BT ol & | Al T a7 AT el Aherdr’ & o 8 aR
AT dl Uifdddr 87
[ A dice is thrown 6 times If “getting an even number” is a success then the probability of

getting 6 success is ?]

1 3 7
(a) = (b) 5 (©) iry: (d) 37 & a1 & (None of these)
49. IfE A 3R B B WRER AU FeAT 81 dol p(A):%Hsﬂ P(B)Z% ar P(AN B) T
A = | Fa1 g8r 2
[ If A and B are two mutually exclusive events P(A) = % and P(B) :% then which of the
following is the value of P(AN B) ?]
(a)2 (b) 0 © = (d) ¥ % B & (None of these)

50. Ifd A IR B ST URROR 70asil gAY 81 92T P(A) =%ﬂ?ﬂ P(B) :g ar P(AU B) &1
A 9 % | B B ?

1 2
[ If A and B are two mutually exclusive events P(A)= = and P(B)= E then which of the
following is the value of P(AU B) ?]

(2)= (b) = (c) 0 (d) = % B¢ & (None of these)
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SECTION (@vs) —II

NON-OBJECTIVE QUESTIONS (fR—a%]fTs ued )

Time : [2 Hrs + 5 Min (Extra)] Full Marks : 50

THY @ 2 EeT + 5 Ao (3rfciRen) quTie : 50
TR GIT —1 ¥ 22 TP TYIWRIG BIC & 8 | TP U B oIy 2 3 FeiRa 71 B2l 15
URAl BT ES PRAT & | 2X15=30

Question no. 1 to 22 carry 2 marks each. These questions are of short answer type.
You have to answer any 15 question out of 22. 2X15= 30

x @ forw 8 o (Solve for x) tan™* 2x + tan™? SX:E
2a¥¢ -1 5 ;
erlc{(lfﬂ b 30+d|— | 0 13|ﬁ(then)a,b,08ﬁ?diﬁrmwaﬁl
[Find the value of a, b, ¢ & d)

e (If) y = e*(sinx + cosx) @1 g9y f& (then show that) % - 2% +2y=0

af(If) f(x)= %a—q(when)x #0,£(0) = 1, @ &1 f (x), x=0 W Had &, F¥?
[Is f (x) continuous at x = 0, why ?]

R1g @Y &% (Prove that) 2 tan.”! %4— tan.”1

N
NS

afe fA— B 3R g:B- € a1 One-One on to we & ar (gof). L= flo g™t

T BT §RT Uh U3 Bl 8 DR Dl JTAHATT -21- gi%‘a‘rwaﬁgﬂﬁmﬁwﬁ

@ Wfear f@Tel | (The Probabilities of solving a problem by three students are %,% %, find
the probability that the problem will be solved)

SH del & FHIORO YT HITT S It 6x - 3y +224+9 =0 & q9a=R 2

dorm 7ot fawg | g1 5 iR Rerd @ [Find the equation of the planes parallel to the plane

6x -3y + 2z+9 = 0 and at a distance 5 from the origin]

s K=3 -8 z-3 x+3 +7 zZ—6 .
TR T y1=13ﬁ? 3=y2=4zf§‘eﬁﬂzﬁaaﬁﬁfg€rﬁmﬁl
x=3 Z_—_S z— x+3 y+7 ﬂ

[Find the shortest distance between the lines — = and — =—-=
3 ==, 1 =3 2 4



10.
Ii4s

15.

16.

17.

19.

20.

HHTH DX (Integrate) fSec x dx

71 frarel (Evauate) f

2 x logx

d
STWWWUT—?C/ = -4xy? P gd e o @1 81 y =1 w& x =0 [Find the
particular solution of the different equation % = -4x y? given that y=1when x = 0.

X &1 A S dX STdfd (find the value of X when) |)2€ 24x|=0

; 7
X 3ﬁ'§’y“cﬁf A ST BN STEfd (find the value of x and y when) |2 i|= 4 T and IJZC }11|:E

afe (If) A = |2 _?1 él 3R (and) B = |S 31 SI dT (then find the value of) 2A-2B

BT B ST DI ?
(2,2) fag W xy + 4 =0 @ forg 2 @ A farel ?

(Find the value of <~ for Xy +4 =0 at (-2,2)]

2
afe (If) y=e* (sinx + cosx) @1 guiigw f& (then show thatgc—zy - 23—;' +2y=0

3rade FHIERY ydx - xdy = xydx & & W ?
Solve the differential equation ydx - xdy = xydx ?
X BT AH S0 B Siafe fFifed afesr IReR o9 87 (find the value of X when the
following vectors are perpendicular to one another)

— 3]+ 512,-xi—'kxj+21€
afew 1+ 2] + 3k ek =31 — 2] + k @ feiRa wwiaR agdst &1 & =T BT |
(Find the area of of the parllelograme determined by the vectors i+ 2j + 3k and

—31~ 21+ k)
TP RISl & 8 H 7 0 2, S99 5 O oIfel & 3N S U=l # g 91e9g 21 Udh Ul

JgTegl GiaT WIal | $9a qIe9rg 8 @) miiear el Sefe 98 Ae@ ¢ b a8 ux

AT ® 1 ( A player has 7 cards in hand of which 5 are red and of these five 2 are kings A card

is drawn at random. Find the probability that is a king, it is known that it is red)

U YT b B | afe fawy Gwr ol 8 df S99 1 9 3ifdd 84 & a T

mifidar 8 ?( What is the probability of the occurrence of a number greater than 1 if it is

known that only odd number can occur ?)



3.

UeT W1 W 4 99 4 9ok B B 2| I uH @ g 5 i fuiia 21 ade
Yo B GRT Sar &7 Adey faar R £ anueT we a1 dar ¥ 9§ fhd b a1 &

SR o7 B 4X5=20
Question no. 1 to 4 carry 5 marks each. These questions are of long answer type

Each question has an alternative as “or”. You have to answer each question or its
alternative (or)] 4X5=20

Rig o% 5 U g & Id Jeck &=ha Tl e Vb ai ¢ |

(Prove that the rectangle of greatest area inscribed in a circle is a square)
Or 31=dT

. VA
Rrg & fb sin@(1 + cosh) 1 H8<H 99 0 =§t{?‘s‘|7rr|
s
[Prove that sin 8(1 + cos8) has maximum value of 6 = E]
2 2 .
dEqa T+ 2= 1 51 dawd fered ?
[Find the area enclosed by the ellipse x—92+ 3';; =1]

Or 34T

Rig & & (Prove that) JZlog sinx dx = JZlogcosx dx = ——glogZ

x BT 99 STd BRI oafe Freifhd |feer IR o 8l |

[Find the value of x when the following vectors are perpendicular to one and another]

xi - 3j+5k or — xi+xj+ 2k
Or 34T

Rig AT @& @ x;2=”1=2;3 and (x +2y +3z - 9=0=2 x - y +2 7 -11)

3
TS £ | 99 adl BT AHIHRer ¥ S SR R I S Yl Rerd

(Prove that the lines =2 =% = 2= and (x +2y +3z - 9=0=2x -y +22-11)

are coplaner, find also the equation of the plane in which they lie.]
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Ueh BeiTeR TR A &l a¥gy Sl 3R T 991 8 | S9a U faer @ forg
5000 %o @ Ud ®acl 60 IR DI @ BT W 8| Tdh Hol TR 250 Bo AR
T fIT TR 50 To B AN M 2 | 98 Tdh AT Bl 50 o Td H¥l Bl 15 o
™ ® AT 99 Gl & | I8 A g b g e awqd @¥edr @ 9= 9
Gl & S YT ¥ b gbR FaRM o1 a1fRe & I sifrdas o 81|

[ A furniture dealer deals in only two items tables and chairs. He has Rs. 5000/- to

invest and a space to to store at most 60 pieces. A table costs him Rs. 250 and a
chair Rs. 50. He can sell a table at a profit of Rs. 50 and a chair at a profit of Rs 15.
Assuming that he can sell all the items that he buys how should he invest his money

in order that he may maximise his profit)

Or 37R(dl

1% gRT 71 XRIh URITfHS T7aT Bl &l N |
(Solve the following linear Programming problem graphically)
RLATHIRRIT B (Minimise)
z =200x +500y
Subject to the constraints:
x+2y =10
3x+4y < 24

x= 0,y20
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CHAPTER DISTRIBUTION

Topics Total alloted Marks Long type short type Objectives
Realations & functions 10 3 6
Algebra 13 4 7
Calculus 40 2 or 8 20
Vectors & 3D Geometry 18 1lor 4 7
Lﬁnear Ineuqlities.& 9 1 6¢ 4
Linear Programming

Probability 10 3 6




a¥gfTss wel #1 S<k (Answer of Objective Questions)

1 d 26 C
2 C 27 C
3 b 28 a
4 b 29 b
5 C 30 C
6 b 31 a
7 C 32 v b
8 b 33 b
9 v 34 d
10 C 30 a
11 C 36 a
12 b 81 C
13 b 38 a
14 b 39 b
15 b 40 a
16 C 41 b
17 b 42 - a
18 b 43 a
19 a 44 C
20 a 45 b
21 5 46 b
22 b 47 b
23 a 48 a
24 b 49 b
25 C 50 a




